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QUESTION 1

Which process would you MOST expect to be involved in the management of Underpinning Contracts? 

A. IT Designer/Architect 

B. Process Manager 

C. Service Catalogue Manager 

D. Supplier Manager 

Correct Answer: D 

 

QUESTION 2

Which process has the purpose to ensure that, by managing the risks could seriously affect IT services, the IT service
provider can always provide minimum agreed business-related service levels? 

A. Change management 

B. IT service continuity management 

C. Financial management for IT services 

D. Service catalog management 

Correct Answer: B 

 

QUESTION 3

Which of the following is one of the primary objectives of Service Strategy? 

A. To design and build processes that will meet business needs 

B. To provide detailed specifications for the design of IT services 

C. To transform Service Management into a strategic asset 

D. To underscore the importance of services in the global economy 

Correct Answer: B 

 

QUESTION 4

Which of the following is an example of proactive problem management? 

A. Automated detection of an infrastructure or application fault, using event/alert tools automatically to raise an incident 
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B. Analysis of an incident by a technical support group which revels that an underlying problem exists, or is likely to
exist 

C. Suspicion or detection of a cause of one or more incidents by the service desk 

D. Trending of historical incident records to identify one or more underlying causes 

Correct Answer: B 

 

QUESTION 5

Service transition contains detailed descriptions of which processes? 

A. Change management, service asset and configuration management, release and deployment management 

B. Change management, capacity management event management, service request management 

C. Service level management, service portfolio management, service asset and configuration management 

D. Service asset and configuration management, release and deployment management, request fulfillment 

Correct Answer: A 

 

QUESTION 6

Which stage of the continual service improvement (CSI) approach is BEST described by the phrase \\'Understand and
agree on the priorities for improvement based on a deeper development of the principles defined in the vision\\'? 

A. Where are we now? 

B. Where do we want to be? 

C. How do we get there? 

D. Did we get there? 

Correct Answer: B 

 

QUESTION 7

How should entries in the CSI register be categorized? 

A. Based on priority, urgency and impact to the business and to all its stakeholders 

B. Based on small, medium or, large undertakings that can be done quickly, medium term or long term 

C. Based on IT service name, cost to the business and expected outcomes to the customer 

D. Based on best improvement opportunities in the organization to achieve a competitive advantage 

Correct Answer: B 
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QUESTION 8

What are customers of an IT service provider who purchase services in terms of a legally binding contract known as? 

A. Strategic customers 

B. External customers 

C. Valued customers 

D. Internal customers 

Correct Answer: B 

 

QUESTION 9

What does the term "Wisdom" represent within the Data-to-Information-to-Knowledge-to-Wisdom (DIKW)? 

A. The complete collection of all data and data repositories in the organization 

B. The knowledge to manage organization processes and people 

C. The complete collection of all process management structures in the organization 

D. The contextual awareness to provide strong common sense judgement 

Correct Answer: D 

 

QUESTION 10

Who has the responsibility for review and risk analysis of all supplies and contracts on a regular basis? 

A. The Service Level Manager 

B. The IT Service Continuity Manager 

C. The Service Catalogue Manager 

D. The Supplier Manager 

Correct Answer: D 

 

QUESTION 11

In Service Operation, if too much emphasis is placed on \\'Stability\\', what might the likely outcome be in terms of
responsiveness to customer needs? 

A. Customers needs will be met more easily because of the improved stability of the services with fewer failures to
disrupt timely delivery 
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B. From the information given, it is not possible to comment regarding the impact on responsiveness of over-emphasis
on stability 

C. There is only likely to be a positive outcome from improved stability - the customers must be made fully aware of this
and their expectations regarding responsiveness must be managed 

D. It is possible that responsiveness may suffer and customers needs may not be met within business timescales 

Correct Answer: D 

 

QUESTION 12

What type of change is pre-authorized, low risk, relatively common, and follows a procedure or work instruction? 

A. A standard change 

B. An emergency change 

C. An internal change 

D. A normal change 

Correct Answer: A 

 

QUESTION 13

What are the processes within Service Operation? 

A. Event Management, Incident Management, Problem Management, Request Fulfillment and Access Management 

B. Event Management, Incident Management. Change Management and Access Management 

C. Incident Management, Problem Management, Service Desk, Request Fulfillment and Management 

D. Incident Management, Service Desk, Request Fulfillment, Access Management and Event Management 

Correct Answer: A 

 

QUESTION 14

What is the entry point or the first level of the V model? 

A. Service Solution 

B. Customer / Business Needs 

C. Service Release 

D. Service Requirements 

Correct Answer: B 
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QUESTION 15

Which stage of the service lifecycle includes catalogue management, information security management, and supplier
management? 

A. Service strategy 

B. Service design 

C. Service transition 

D. Service operation 

Correct Answer: B 
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